Function Transformations
Quiz

Name: _________________________________
Short Answer

1.
The graph of [image: image1.png]


 is translated 5 units right and 7 units up. What is an equation of the translation image in terms of the function g?

2.
The graph of [image: image2.png]


 is the image of the graph of [image: image3.png]


 after a horizontal and vertical translation. What is an equation of the image graph?
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5 –5 x

5

–5

y


	



3.
The graph of [image: image6.png]


 has x-intercepts 2 and 5, and y-intercept –2. After a reflection in the y-axis, what are the x-intercepts and y-intercept of the image graph?

4.
What is an equation for the image of [image: image7.png]


 after a reflection of its graph in the y-axis?

5.
The graph of [image: image8.png]


 is stretched horizontally by a factor of [image: image9.emf]8

5

, stretched vertically by a factor of [image: image10.emf]6

5

, and reflected in the x-axis. What is an equation of the image graph in terms of x?

6.
Here is the graph of [image: image11.png]


. On the same grid, sketch the graph of [image: image12.png]


. Describe how the graph of [image: image13.png]


 was translated. 
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7.
The function [image: image15.png]


 has domain [image: image16.png]-f<x =15



 and range [image: image17.png]-1l =y =46



. What are the domain and range of [image: image18.png]


?

8.
Use transformations to describe how the graph of the second function compares to the graph of the first function.

[image: image19.png]|x+ 3| +4




y = [image: image20.emf]1

4

 |[image: image21.emf]2
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1
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3.
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x-intercepts: –5, –2

y-intercept: –2
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5.
ANS:


Equations may vary.

For example, [image: image25.png]


 –[image: image26.emf]6

5

(4( [image: image27.emf]5

8

x) – 4)
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PROBLEM

1.
ANS:


	[image: image28.png]



Compare the equation to:

[image: image29.png]Ax-h)




[image: image30.png]


 and [image: image31.png]



The graph of [image: image32.png]


 is translated 

3 units right and 3 units down.

The domain of [image: image33.png]


 is:

[image: image34.png]



The range of [image: image35.png]


 is: [image: image36.png]



The domain of [image: image37.png]


 is: [image: image38.png]



The range of [image: image39.png]


 is: [image: image40.png]
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PTS:
1
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Moderate
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12.RF2
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Relations and Functions


KEY:
Conceptual Understanding | Procedural Knowledge | Communication

2.
ANS:


Compare the equation [image: image42.png]


 to

[image: image43.png]Ax-h)



:

[image: image44.png]


 and [image: image45.png]



So, each point on the graph of [image: image46.png]


 is translated 5 units left and 3 units up to create the graph of [image: image47.png]


.

So, the image graph has domain:

[image: image48.png]-6-5<x<15-5



, or [image: image49.png]-11<x<10




and range:

[image: image50.png]-1l +3=y=6+3



, or [image: image51.png]



PTS:
1
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KEY:
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3.
ANS:


Let f(x) = [image: image52.png]|x+ 3| +4



, then compare y = [image: image53.emf]1

4

 |[image: image54.emf]2

x + 3| + 4 to [image: image55.png]


:

a = [image: image56.emf]1

4

 and b = [image: image57.emf]2


So, the graph of y = [image: image58.emf]1

4

 |[image: image59.emf]2

x + 3| + 4 is the image of the graph of [image: image60.png]|x+ 3| +4



 

after a vertical compression by a factor of  [image: image61.emf]1

4

, a horizontal compression by a factor of  [image: image62.emf]1

2

, no reflection in the x-axis, and no reflection in the y-axis.
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KEY:
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